
Instructions for
Linbar®and Multibar®

Part # 105-1, 1305, 1405
Fits Dyna Models from 1991-present.
Will only fit with mid controls.

1. Install top center mount of the highway bar to the center
mount of the frame using 5/16” x 18 Bolt and Nylon Lock Nut 

 

2. Install Left and Right lower mount of the highway bar to the lower
hole on the side of the frame using 3/8” x 16 bolts and washers 

3. Tighten all bolts

4.       Hardware included:
                -1 Hex bolt 5/16 x 18 x 1
                -2 Allen bolts 3/8 x 16 x 1 
                -1 Nylon Lock nut 5/16
                -2 Sae flat washers 5/16
                -2 Sae flat washers 3/8
                
                      *Bar width: 35”
                 

www.lindbycustom.com
320 E. Crowther Ave., Placentia, CA 92870

Phone (714) 528-0085 • Fax (714) 528-0087

Front Linbar patent D361311
Front Multibar patent D548142


